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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–II • EXAMINATION – WINTER 2013 

Subject Code: 320007 Date: 02-01-2014        
Subject Name: Elements of Civil Engineering 
Time: 2:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a) Define surveying and explain Principles of surveying with sketch. 07 
 (b) Explain indirect ranging with sketch. 07 

Q.2 (a) State various factors affecting the location of site for industrial shed and 
explain each in brief. 

07 

 (b) Explain the relationship between Compressive Strength of Concrete and 
Water Cement Ratio 

07 

  OR  
 (b) Explain Methods of Curing of Concrete. 07 

Q.3 (a) Draw neat sketch, show various parts of Prismatic Compass and write use of 
Prismatic Compass. 

07 

 (b) Calculate  B.B.for  (1) 3100 (2) 1350 30’  (3) 300 30’         
 (4) 000 00’   (5)  1800 00’ (6)   3600   (7) 1200    

 

07 

  OR 
Q.3 (a) Draw the Symbol as recommended by I.S.I. 

(1) Concrete,(2) Brick work,(3) Ceiling Fan, (4) Indian Type W.C., 
(5)Revolving Door.(6)glass,(7) wood 

07 

 (b) Differentiate between Map and Building Plan  07

Q.4 (a) Following Reading were observed while Levelling on Continuously sloping 
ground with 4.0 M Staff 
0.59,1.23, 2.86, 3.55, 0.48,1.68,2.40.The RL of Bench Mark is 50.0 M 
.Calculate RL of all points . Apply Arithmetic Check,. 

07 

 (b) Explain the Following.  
(1)  Temporary Adjustment of Level.(2) Local Attraction 

07 

  OR 
Q. 4 (a) Explain the Following 

(1) Temporary Bench Mark, (2) Reduced Level, (3) C.P. 
 (4)F.S, (5) B.S,(6) F.B. (7) B.B. 

07 

 (b) Draw section of Wall with following items of Building. 
(1) RCC Lintel with Chhajja, (2) Window, (3) RCC Slab, (4)Parapet Wall. 

07 

Q.5 (a) State the purpose of Bye-laws for Industrial Building. 07
 (b) State the Bye-laws regarding Means of Escape during Fire for New Factory. 07
  OR 

Q.5 (a) State the causes of failure of Machine Foundation. 07 
 (b) Compare Lime with Cement. 07 

 
************ 
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Ȥજુરાતી 

̆ĕ. 1 અ સવ±ëણની ƥયાƉયા આપો અને તેના િસƚધાતંો આĴિત દોર� સમĤવો.. 07 
 બ પરોë આર°ખણ(ઇનડાયર°ક ર°�ƛજગ) આĴતી દોર� સમĤવો 07 

  ̆ĕ. 2 અ ઔધો�ગક શેડ ની જƊયા પસદં કરતી વખતે અસર કરતા પ�રબળો જણાવો અને 

દર°કને Ȭંુકમા ંસમĤવો. 

07 

 બ કો˲�ટના દાબ સામƘય½ અને પાણી
િસમҪટ
Ȥણુોતરનો સબƛધ     સમĤવો 07 
  અથવા  

 બ કો˲�ટના  કયોરӄગની ર�તો  સમĤવો 07 

  ̆ĕ. 3 અ િ̆ઝમેટ�ક  કંપાસની આȢૃિત દોરો અને તેના ભાગોના નામ આપો તથા િ̆ઝમેટ�ક  

કંપાસના ઉપયોગ જણાવો. 
07 

 બ (1) 3100  (2) 1350 30’  (3) 300 30’ (4) 000 00’   (5)  1800 00’ (6)   3600   (7) 1200 

માટ° પĖ½ બે�ર�ગની ગણતર� કરો. 
07 

  અથવા  

̆ĕ. 3 અ આઇ.એસ.આઇ. એ ભલામણ કર°લ સìંા (િસƠબોલ) દોરો. 

(1) કો�˲ટ  (2) Ӗટકામ (3) છત નો પખંો (4) ઇƛડ�યન ટાઇપ ડબƣȻ ુસી(5) 

ફરȱ ુબારȰ ુ(6) કાચ (7) લાકȮ ૂ

07 

 બ નકશા અને મકાનના Ɯલાન વƍચેનો તફાવત જણાવો. 07 

̆ĕ. 4 અ  4.0 M ના લેવલ ƨટાફથી નીચે તરફ સતત ઢળતી જમીનȵુ ં તલેëણ 

કરતા નીચેના ંઅવલોકનો લેવામા ંઆવેલ છે. 

0.59, 1.23,2.86, 3.55,0.48, 1.68, 2.40.તલ4�ચહȵુ ંઆર.એલ. 50.0 M. છે. 

દર°ક ƨથાન માટ°, આર.એલ. શોધો અને ગ�ણતીય તાળો મેળવો  

07 

 બ સમĤવો  (૧) લેવલȵુ ંહગંામી સમાયોજન (૨) ƨથાનીક આકષ½ણ 07 
  અથવા  

̆ĕ. 4 અ સમĤવો
(1)હગંામી તલ�ચƛહ (2)સાપેë Әચાઇ(3) C.P.(4)F.S, (5) B.S,(6) F.B. 
(7) B.B. 

07 

 બ એક �દવાલ નો આડછેદ દોરો તેમા મકાન ને લગતી નીચે Ⱥજુબ ની 

બાબત દશા!વો.(1) આર.સી.સી. લીƛટલ છĤ સાથે (2) બાર� (3)આર.સી.સી. 

ƨલેબ (4) પેરાપેટ �દવાલ 

07 

  ̆ĕ. 5 અ ઔધૌગીક મકાનો માટ°, બાધકંામ ના  પેટાિનયમો હ°ȱ ુદશ½!વો. 07 
 બ આગ લાગે cયાર°,બહાર જવાના માગ½ માટ° નવી ફ°ƈટર� માટ°ના પેટા કાયદા 

જણાવો 

07 

  અથવા  

̆ĕ. 5 અ મશીનના પાયા િનƧફળ જવાના કારણો આપો 07 
 બ ȧનૂો અને િસમેƛટની સરખામણી કરો 07 

******************* 


